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PHILOSOPHY

(General)
Paper Code : ITA & B

(New Syllabus)
Full Marks : 150 Time : Four Hours

Paper Code : I1 - A
(Marks : 50)
Choose the correct answer.
Each question carries 1 Mark.
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1. Which among the following is not regarded as padarthas after the Vaisesikas ?
(A) Dravya
(B) Guna
(C) Samyoga
(D) Abhava
5. (AR MERRS @AbeE miel et F6E e 2
(A) &
(B)
(C) Kt
(D) =l
2. According to Nyaya Prama is —
(A) Yathartha Anubhava
(B) Ayathartha Anubhava
(C) Smrti

(D) None of these
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(A) TN ST

(B) SR S

(€) s

(D) 90 S0 (@02 7

Samkhya believes that the evolution of the world has its starting point in the contact
between —

(A) Self and intellect

(B) Purusa and Prakrti

(C) Finite material and infinite material

(D) Ego and mind

. RY G FR R TR (@ GOICe WSS SF 2 A6 e AL ©f T —
(A) SIS @R I

(B) o7 IR =S

(C) PN TT IR SN &%

(D) S=2K=IF ¢ 3

. How many avayava in pararthanumana have ?
(A) Three

(B) Two

(C) Five

(D) Four

(A) fo

(B) T

(€)

(D) ©l%

Vaisesikas believes in Pramanas ?

(A) One
(B) Two
(C) Three

(D) Four
P.T.O.
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(3)
. (Ao T e e e 2
(A) <=6
(B) 72
(C) Toal
(D) BRI
Purusa is regarded as —
(A) Intellect
(B) Pure consciousness
(C) God
(D) Body
[FACE [EUSARGIDIEEIERT
(A) Ifa
(B) Rwm @oa
(C) o=
(D) ™2

Sarmhyoga is —
(A) Substance
(B) Quality
(C) Padartha
(D) Karma
AR T —
(A) &

(B) &9

(C) =m<

(D)

(A) Pramanya
(B) Pramana
(C) Prameya

(D) Prama

Accdording to Nyaya the source by which Prama obtained is called
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10.

S0.

11.

(A) lsmey

(B) o4

(C) 94w

(D) &=

Nyaya believes in —

(A) Twenty one types of substances
(B) Twenty two types of actions
(C) Thirty types of pramanas

(D) Twenty four types of qualities
IRl (P K e —

(A) GRH B3y [P S0

(B) s w@cem

(C) o et s

(D) SRR e @

Which of the following is not a kind of perception in Nyaya-Vaisesika ?

(A) Laukika and Alaukika
(B) Savikalpaka and Nirvikalpaka

(C) Samanyalaksana and Jnanalaksana
(D) Samyoga and Vyapti
T (PG TWR-(IACHRT NC© LT T 2

o

(A) TR @R SR

(B) e @R s
(C) AT @R SaleeT=hel
(D) A4 @ ey

Sattva, Rajah and Tamah
(A) Purusa

(B) Prakrti

(C) Brahma

(D) God

P.T.O.
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(5)
G, TG 8 Oz (FA0F @ 2
(A) 7=
(B) =3fe
(C) g=n
(D) =
According to Nyaya “Ice looks cold” is an example of —
(A) Samanyalaksana pratyaksa
(B) Yogaja pratyaksa
(C) Paramarsa
(D) Jnanalaksana pratyaksa
I IS, “ITT (TS el — afb [FewE Taggd 2
(A) ANTeTF 2ok
(B) @arer eorsw
(C) farref
(D) <ot 2o
Who is the founder of Vaisesika philosophy ?
(A) Mahavira
(B) Gautama
(C) Kapila
(D) Kanada
i wetea dfevrel & 2
(A) ==
(B) ¢Mex
(C) o

(D) <wdm
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(6)
According to Nyaya, Invalid knowledge is called —
(A) Paramarsa
(B) Prameya
(C) Aprama
(D) Pramana
T S, SR S —
(A) s
(B) =
(C) s
(D) @sd
Vyapti can be properly defined as —
(A) Invariable concomitance
(B) Causal relation
(C) Separable relation
(D) None of the above
Jifess TR FReElfre F= AT —
(A) @ zanfrer 7o
(B) Iz 7
(C) fawwzs 7o
(D) TR (ICAME

How many alaukika pratyaksas are accepted by Nyaya —

(A) Three

(B) Six

(C) Seven

(D) Five

(I F© FF S AT FPIL A —
(A) fo

(B) =@

(C) e

(D) #ie
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Sa.
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oo,

Samkhya believes in —
(A) Prakrti-Parinamavada
(B) Vivartavada

(C) Arambhavada

(D) None of the above
AR T (PAADBCS FE 2
(A) epfo-sAfgerRm

(B) @sam

(C) NTsIm

(D) Toltad (IR o
According to Nyaya Buddhi is —
(A) Knowledge

(B) Ego

(C) Mind

(D) Chitta

TR S, I 2o —

(A) &I

(B) ==&

(€) ==

(D) foe

Samavaya is —

(A) Identical relation

(B) Separable relation

(C) Causal relation

(D) Inseparable relation
ARG T —

(A) SISy F7F

(B) 2T FF
(C) IRFT 794

(D) o=y 7o

(7)

P.T.O.
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(8)
In the statement ‘Milk is white’ the relation between milk and white, according to

Vaisesika, is a case of —

(A) Samyoga

(B) Svarupa

(C) Tadatmya

(D) Samavaya

Ty AW RFfere (AU TS qraE A AME [hol 7100F TR0 2
(A) G

(B) ==t

(C) omrsy

(D) <=

Which among the following is regarded as Pramana according to Nyaya —
(A) Smrti

(B) Samanya

(C) Tarka

(D) Upamana

TN TSP 97 T (I el 291107 Koo 2

(A) e

(B) sty

(C) oF

(D) T

Knowledge produced by resemblance comes under —
(A) Pratyaksa pramana

(B) Anumana pramana

(C) Upamana pramana

(D) Sabda pramana

P.T.O.
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A AT SIS Se(b (0 SAleAl I —
(A) oo oene
(B) Swser ef=e
(C) T el
(D) *= &=
‘I’ proposition distributes —
(A) Predicate
(B) Subject
(C) Both subject and predicate
(D) No terms

T I5CT (T 27 s —
(A) Rt

(B) Ty

(C) T @k e Tera
(D) (Al 20 7

Who propounded the concept of existential import ?

(A) 1. M. Copi

(B) Carveth Reid

(C) George Boole

(D) John Venn

SEGLETE Ol (F 2 FC 2
(A) 3. @ i

(B) =TS Tw

(C) &

(D) & e

Who is associated with Material Obversion ?
(A) Bain

(B) Mill

(C) L. M. Copi

(D) Russell

P.T.O.
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G [~ AL T N IS AR ?
(A) @&
(B) fm
(C) =iz, @w. fel
(D) <eAeT
The constant symbol of a conjunction is —
(A) p&q
(B) pvq
©) ~p
(D) p=q
AN G &9 LN e —
(A) p&q
(B) pvq
© ~p
(D) p=q
Logical Form of the sentence “Mangoes are sweet” will be —
(A) All Mangoes are sweet (A)
(B) Some Mangoes are sweet (I)
(C) Some Mangoes are not sweet (O)

(D) No Mangoes are sweet (E)

“wis 23 fiR” Aa WA 2@ —
(A) e =y 27 il (A)

(B) & ¢ =% = iR (1)

(C) @ @ = 73 ffg (0)

(D) @9 =% 77 R (E)

In which of the following propositions both the subject and predicate terms are

distributed ?

(A) Some flowers are not red
(B) No flowers are red

(C) Some flowers are red

(D) All flowers are red

P.T.O.
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eI Ioabd (T Swely 8 [y Teg #m il TE0E 2

(A) I (I ZPeT =0T

(B) (I 3peT 9 oTleT

(C) (AT (Pl ZpeT 2F &Mt

(D) R & 2 e

In which of the following syllogistic forms involves the fallacy of undistributed middle ?
(A) AEE in third figure

(B) EIO in first figure

(C) IAA in third figure

(D) AII - in second figure

TS (@ TR SRR SR SQPT (2g (T R ?
(A) AEE - PSR AT

(B) EIO - g3 7RI

(C) TAA - TOR BT

(D) Al - &SR JBa

If p = false, then what will be the truth value of p.p ?
(A) True

(B) False

(C) Contingent

(D) None of the above

W p = F (F201) 20 120 p . p @3 TG0 J 2J ?
(A) 9

(B) e

(C) wIfv*e®

(D) (CAIGE 77

Judgment, when expressed in language, is called —
(A) Term

(B) Sentence

(C) Proposition

(D) All of the above
P.T.O.
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I YIS SR (F T 2 ¢
(A) =M
(B)
(C) <o
(D) TR K M
‘Rama is either intelligent or not’ — this proposition is —
(A) Categorical
(B) Non-categorical
(C) Analogical
(D) None of these

T ISt w2l Jfawre! T — B WBAB —
(A) TS=Cers 5w

(B) Mot <o

(C) ToERF 6+

(D) @G 7

The essential feature of a valid deduction is —
(A) vagueness

(B) indefiniteness

(C) narrowness

(D) None of these

> (I TRCAE SN ARG @I g —
(A) Srigel

(B) Szt

(C) Jlefer

(D) 9o @FmeE T

On the basis of their quality, how many categorical propositions are there ?
(A) Two

(B) Three

(C) Four

(D) Five

P.T.O.
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o fefere Towfe fmrers Ioa TR ¢

(A) =6

(B) fexis

(C) ®iED

(D) 5o

The figure of syllogism is determined by the position of —

(A) Major term
(B) Minor term
(C) Middle term
(D) None of the above

I SRR AL A ail e &%)
(A) g 7
(B) P o
(C) =g Mm

(D) «sfe Fwebs a7

In a disjunction, even if one of the statements is true (T), the whole disjunction is —

(A) False
(B) True
(C) Both true and false

(D) Neither true nor false

Tt IB-97 (%0, I 9FT AT AET Yo (T) T OIRCE AN AL SR

BIeg

(A) e

(B) s

(C) fie ¢ 1oy Towe

(D) ey 77 =it w7

The obverse of “No tiger is a pet” —
(A) All non-pets are non-tiger

(B) Al tigers are non-pets

(C) No tiger is a non-pet

(D) No pet is a tiger
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“ (@I AT T (A -97 e el =@ —
(A) = (AR AT 2 S-A
(B) T AT 2 F-CoAIy
(C) @S G T T-Ccofla &
(D) (FIe ¢l 2Nd < A9

(1
'~

The Contant symbo stands for —

(A) Negation

(B) And

(C) If - then

(D) Either - or

I AP “~ w2 —
(A) Fgs /| @

(B) =%

(C) IW - =&

(D) <&Ml

is the basic unit in all societies. —

(A) Community
(B) Family
(C) Group
(D) Institution
ROATl T TS LA G55 |
(A) =mME
(B) “Ifz==
(C) oD
(D) efsoi
The book ‘Das Capital’ was written by —
(A) Max Weber
(B) Karl Marx
(C) Laski
(D) Hobbes

P.T.O.
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W BT 726 TR —

(A) TH STEAIE

(B) <Ief w1

(C) =%

(D) =

‘Impersonal relation’ is the characteristics of —
(A) Primary group

(B) Secondary group

(C) In-group

(D) All of the above

‘e T @B iR feew —
(A) 2N ot

(B) M9 calrdt

(C) SIS (ol

(D) THER FRI

The word ‘Democracy’ means —
(A) Power of government

(B) Power of representative

(C) Power of people
(D) All of the above

COCAIGEF *tre oY 2751 —

(A) AT FFaol

(B) wfeffm =el

(C) @ealteq =Frot

(D) T RO

Who is the supporter of Scientific Socialism ?
(A) Plato

(B) Thomas More

(C) Marx

(D) Lenin
P.T.O.
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44,

88.

45.

8¢.

46.

(A) C3ITH!

(B) 4™ 0w

(C) =

(D) Cefe

Who used the concept of the open class ?
(A) Kingsley Davis

(B) Hobbes

(C) Herbert Spencer

(D) Cooley

IS @I AT (F IR FRCZA 2
(A) BT (efen

(B) =

(C) 2=AG CoeR

(D) et

The concept of class struggle is associated with the philosopher —
(A) Marx

(B) Sununur

(C) Kingsley Davis

(D) A. W. Summer

A NG G=ee A Sige Wi =T —
(A) ST

(B) g

(C) T (ufon

(D) «@. T, AR

What are the two basis of community ?

(A) moral and political consciousness

(B) locality and community sentiment

(C) we-feeling and role-feeling

(D) group awareness and community awareness

P.T.O.
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TEmIEE 46 fofe i 2
(A) e @ G AGOel
(B) &Il 8 TN TS
(C) STl Sgfe G gl Sgfe

(D) 2k FHOTS! G TR AHOTS!
Theory of Surplus Value is admitted by —
(A) Marx

(B) Kingsley Davis

(C) Pitter Singer

(D) Hobbes

Tge N oG (P WLF ?

(A) w7

(B) e (wfon

(C) foix P

(D) =

Who expressed the view that “equality is unnatural and undesirable?
(A) Hegel

(B) Aristotle

(C) Locke

(D) Hobbes

AR TUFE R SIS G Eel (F A FAREE 2

(A) R0l

(B) yife0e

(C) ==

(D) =

According to whom ‘Democracy is the Government of the people, by the people, for

the people’ ?

(A) Abraham Lincoln
(B) Herbert Spencer
(C) Auristotle

(D) Pitter Singer

P.T.O.
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(A) SRR o
(B) TG oAl
(C) SmifsPBoe
(D) o= Prem

50. “The non-existence of colour in air” is the example of —
(A) Dhamsabhava

(B) Atyantabhava
(C) Pragabhava

(D) Anyonyabhava

€o. ARICS ol GF WOX — AT (T AT Sreld q60R ?
(A) @M=
(B) Srer@gieR
(C) SR
(D) e

P.T.O.
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(b)

(c)

2. (a)

(b)

(c)

3. (a)

(b)
(c)

(19)
Paper Code : I1 - B
(Marks : 100)

The figures in the margin indicate full marks.
Candidates are required to give their answers in their
own words as far as practicable.

Section - I
Answer any three questions taking one from each group. 15%3=45
Group - A
What is Vyapti ? How can it be asscertained ? Discuss. 5+10=15

Explain the concept of Visesa admitted by the Vaisesikas. In what respect Videsa

distinct from samanya ? Discuss. 5+10=15

What is purusa in Samkhya philosophy ? How is the plurality of purusa proved ?
Are these arguments acceptable ? 5+5+5=15

Group - B

Use truth table to determine the validity or invalidity of the following arguments :
5x3=15

(i) Uo(VvW)
(V.W)>~U/:.~U
(i) (PvQ)>(P.Q)

PvQ/..P.Q

(ii1) Either Rahul is a doctor or an engineer. He is not a doctor. Therefore, he is
an engineer.

Test the validity of the following by means of Venn diagram : 5x3=15
(i) AIO -1
(i) AEI - 2
(ii1) As you are not a graduate, you are not eligible for the post.
Explain Mill’s method of concomitant variations and discuss its limitations. 15
Group - C
Distinguish between primary group and secondary group. Why is family called a
primary group ? Discuss. 10+5=15
Describe the ‘cultural lag’ and illustrate its effects with example. 5+10=15

What is democracy ? What are the characteristics of democratic ideals ? 3+12=15

P.T.O.
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(b)
(c)
(d)
(e)
()

(2
(h)

(b)
(c)
(d)
(e)

(H
(2
(h)

(b)
(c)
(d)
(e)
¢y
(8)
(h)

(20)
Section - 11

Answer any eleven questions taking not more than four from each group.  5x11=55

Group - A
Give an account of the Nyaya theory of Upamana . 5
Distinguish between Samyoga and Samavaya . 5
Explain the nature of Prakrti. 5
Explain the different froms of Abhava . 5
Write a note on Samanya-Laksana pratyaksa. 5
Distinguish between Nirvikalpaka and Savikalpaka pratyaksa. 5
What do you mean by hetvabhasa ? What are its different forms ? 2+3
Write a short note on satkaryavada . 5

Group - B
What is fallacy of Illicit Minor ? Explain with example. 5
Distinguish between deductive and Inductive argument. 5
What are the two senses of ‘or’ ? 5
What is obversion ? Write the rules of obversion with example. 2+3

What is analogical argument ? Distinguish between good and bad analogical

argument. 2+3=5

Is simple conversion of proposition ‘A’ possible ? 5

Write a short note on formal ground of inductive argument. 5

Explain with diagram the four types of figure. 5
Group - C

Discuss in brief the nature of social philosophy.

Explain the basis of community.

What is justice ? Explain.

How do you distinguish between custom and law ? Discuss briefly.
What is meant by caste systwem ? Explain in brief.

Write a short note on freedom.

Write a short note on sarvodaya according to M. K. Gandhi.

LN L O W L i W WD

Explain the relation between liberty and equality.

P.T.O.
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(i) Uo(VvW)
(V.W)>~U/:.~U

(i) (PvQ)>(P.Q)

PvQ/..P.Q

(iii) AreeT =W Tie w2_l fgfma | ¢ TreR 79| Sredd (7 g |
CSAbGaa AR 3ol 7 IR ExO=5¢

(i) AIO - 1

(i) AEI - 2

(iil) T2 N [T 78, ©i2 TN G2 27 (@5 € |
fleT-a7 TR 2@l SAED I IR @3 2@fed Aamel S ! | NG

et - o

AR (D G2 (Ml OB S0y AT ST I | AT (& AT oD 7an
23 Of AT AT | Sot+e=5¢
Siggior TN’ 90 FE! GR qAETE G A6 Srard 1 | E+s0=3¢
SoF IETCo & @RI 2 slefsifzs oo @Rl St Fe | O+53=3¢
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